®
- E-MC"
- [

EGRFI
ARSI

EGRY :8E

- BREWEEXGERE, ROSKENRERE;

- RIS RRSE T ETIBLERE, RIEFHME
MEaEM;

- BimERE B EBEE, TETINDE;

- EMREREAMFLEE, FEER;

- BIRERMNERET;

- S5REEMERIE;

- SEHESASEMA, FERSRDRHE,
{ESEIZITiHE1000mm/s;

- BIEBALRATPUMR EF-RERFGEK,

EG

L3 ikiaatiil

EG-S

—i =

EGD

EGD-S

= s

OF )

ow@mm | 20 | 25 | s | 40 | s0 [ e
HIERRK SHE

TIENR ZH (40 p ML LIRS IR)

{ERENEE 0.1~1.0MPa(15~145psi)(1.0~10.0bar)

fRIE E 1 (MPa) 1.5MPa(215psi)(15bar)

TERE(T) —20~70(ANEE k)

{8 i ESEE (mm/s) 50~1000

ITRAEEHE 04

ZHAR BriEs, ZiE

BEOR M5 G1/8" G1/4"

sV Ehae|FFmsMES]  0.28 041 ] o066 | 120 | 200 | 340

iR o =

A

O TR
EX e ] B

EG =8 B 20

D: XiHE 25

C: SZHE 32

40

50

63

R A5
25 =A: AR
50 S: Miwk
75
100

M :

S aF

20 |25 50 75 100 125 150 175 200 201~1200
25 |25 50 75 100 125 150 175 200 250 300 | 301~1200
k-] 32 [25 50 75 100 125 150 175 200 250 300 | 301~1500
z 40 [25 50 75 100 125 150 175 200 250 300 | 301~1500
50 [25 50 75 100 125 150 175 200 250 300 | 301~1500
63 [25 50 75 100 125 150 175 200 250 300 | 301~1500




EGRY fa S X (RE KT

FE|EHE]K ol
1 | R REE W
N FEEW(EG20, 25
2 | HEM ( )
$N(EG32, 40, 50, 63)
3 |Hi=pLE TPU
, . o 1 " . 4 | Bl S&H#
2 3 4 5 7 8 9 11 13 15 5 .ﬁlu_nin %‘EE‘
6 |FfERE TPU
7 | &L $BES
! 8 |OBE NBR
- - N __ - 1 | 9 |AEEHE NBR
\ 10 |FAE BE
EG20. 25
A 11 | sk L )
¥BZ(EG32, 40, 50, 63)
12 | W EEIR PTEE
13 | BhSKEE RE
14 | ORIFE NBR
15 | W7~ f B HE SR iR
16 | & BES
SMERTE
EG
GA 2-P GB oc
FEEKA \ T_T
H1 TH “Tﬂ“
: oY 5 A -
= S \ \k/ 5 o
4-TC
AL
A K Fl_TA _E
H SHT#E F
ZZ+4788
#1% POETIZSER | KITIESEE | A AL B1 (¢} D E F H 1 J K KA L NA
20 <200 201~1200 | 18 | 15.5 [ 12 14 8 12 2 35 | 26 | max0.7®7 | 5.5 6 M8X1. 25 24
25 <300 301~1200 | 22 | 19.5 | 17 [ 16.5] 10 | 14 2 40 [ 31 | M5%0.8%7.5| 6 8 | Mi0X1.25 | 29
32 <300 301~1500 | 22 | 19.5 | 17 20 | 12 | 18 2 40 | 38 | m5x0.8% 6 10 | M10X1.25 | 35.5
40 <300 301~1500 | 30 27 19 26 | 16 | 25 2 50 | 47 | méx1.05%12 | 6.5] 14 | m14x1.5 44
50 <300 301~1500 | 35 32 27 32 | 20 | 30 2 58 | 58 | m8x1.255%16 | 7.5| 18 | M18X1.5 55
63 <300 301~1500 | 35 32 27 38 | 20 | 32 2 58 | 72 | M10X1.5%16 | 7.5| 18 | M18X1.5 69
gz HRETIESER | KITIEER P S GA GB T H1 TA B zz D TF TE TG TC
20 <200 201~1200 | M5X0.8| 69(77) | 13.5 | 13.5 |26.5| 6 11 11 | 106(114) | 8 0.5| 4 5.5 | M5X0.8
25 <300 301~1200 1/8” | 6977) | 10 10 [31.5| 6 11 11 | 111(119) | 10 1 5 6.5 | M6X0.75
32 <300 301~1500 1/8” [ 71(79) | 10.5| 9.5 [38.5| 6 11 10 113(121) | 12 1 55 | 7.5 | M8X1.0
40 <300 301~1500 1/8” | 78(87) [ 11.5 | 10 [47.5| 8 12 10 | 130(189) | 14 | 1.25] 6 8.5 | M10X1.25
50 <300 301~1500 1/4” [90(102)| 13 13 [58.5| 11 13 12 | 150(162) | 16 2 7.5 | 10 | M12X1.25
63 <300 301~1500 1/4” [90(102) | 14 12 [72.5] 11 13 12 | 150(162) | 18 3 |11.5]14.5]| M14X1.5

i1, WHESTHHESMERSTER; 2. “ ()" ARTARITEZRS; 3. REORZEGH. PTHF. NPTF A,

EGDXU 4
Hfz(mm)
M I 1 M HZIHS s H L TA
{ 1= _ T | - i ) — % 20 77 35 147 11
25 77 40 157 11
— )l i — 32 79 40 159 11
40 87 50 187 12
A TA 50 102 58 218 13
- ~ ] _ 63 102 58 218 13
(H) S+7R H+f712
L+{THEX2




	页 1
	页 2

